Name Order of Operations (3)

75 40 14 38 70 10%2-4x10= (22+10)+4 = 20-3x6= (2+5)x32=
1 16 60 19 10 2+32x4-= (12-3?)x 4= (5+9)x5= 22+3%2x 4=
17 3 7 21 63 100- 52 = (4+23)x8= (6+2)x9= 3x2+4=
17 96 72 30 9 5+43x3= (9-3)x5= 21-6+3= (9+6)+5=
12 2 5 6 8 33-42x2= 80-3x52= 20-7x2= 25-22x2=
N\
J
Name Order of Operations (3)
6 17 7 30 12 (9-3)x5= (12-3%) x4 = 33-42x2= (4+23)x8=
72 16 2 60 40 21-6+3= 10%-4x10= 20-3x6= 25-22x2=
75 3 17 70 9 (6+2)x9= 2+32x4-= 3x2+4= 80-3x52=
19 96 63 5 38 (9+6)+5= (5+9)x5= (22+10)+ 4= 20-7x2=
8 14 1 21 10 100-5%= 22+32x4= 5+3x3= (2+5)x32=
N\
J




Name Order of Operations (3)

17 12 1 16 2 21-6+3= 102-4x10= (5+49)x5= 80-3x5%2=
75 30 63 3 14 100-52= (9+6)+5= 25-22x2= (6+2)x9=
9 96 6 72 38 22+32x4-= 33-42x2= 2+3%2x4= (2+5)x32=
17 7 21 19 8 3x2+4= 5+3x3= (22+10) 4= (4+23%)x8=
10 5 60 70 40 20-3x6= (12-3?)x 4= 20-7x2= (9-3)x5=
UL e
Name Order of Operations (3)
7 72 75 30 14 20-3x6= (22+10)+4 = (9-3)x5= 102-4x10=
96 38 16 12 17 25-22x2= (2+5)x32= (9+6)+5= (12-3%)x 4=
19 9 1 5 10 21-6+3= 22+32x4= 3x2+4= 80-3x52=
70 17 6 60 8 20-7x2= (4+23)x8= (6+2)x9= (5+9)x5=
21 63 2 40 3 33-42x2= 2+32x4= 100-5%= 5+3x3=

JuU) e




